m+mx=0

INMAL PATA R

>R

CHARACTERISTICS

L} 3

SOLUTION

- S=§U‘Cﬂh’)

V/

A

— Ss_;llluwr)

OTHER POSSIBILITY :
CHARACTERIETICS

/7

 —

.|/




H™ (V= fuel2) | Pueltl) V ldll<mY, melNo

Ciivdym = "2;_:._ 4 i)‘u.?“v) Y uveh™(R)
wm
| L2.. NNER PROPUCT

H™(QV).. INNER PrOJUCT SPACE

Uil = Vg = ( T 1l ) Vaehi2)

v
H"(9)..NORFED VECTOR SPACE

lydcH™lWL) _ CAUCHY SEQUENCE
J, » {4} CONVERGENT

H™(JQV... HILGERT SPACE

7S

o@D =(K) H{R)
& Welilw G < W)
PENSE NOT JENSE

Nyl = ueh () | IHubeerin) suck That i llyg-ullya=01

uehy V Yﬁ.. ue Mo ((R)

ueCllopl) . {uﬁb. Rk -
ulo)= 0~ub) S ) €hol)



